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1 Total Numbrer of Questions-100. Each Question is of three marks

2 One mark will be deducted for evary Wrong answer.
3. Mo mark will be deducted for un-attempted questions. -—
Q1-5. Which word or words explains the m&ﬂr‘lﬁgn—fih;} following idioms
Q1 All Agon

3 Almighty (b) Unmowvead

e TRIEE spmenne (d) Full of interesat and excitemeant
o o thée manmer | i

[a) O of low birth () Naturally at ease

(d) Caesarean birth

e Place of one's binh

03 Lose one's marbias

Suffer a setback

fa Lose something dear 1o you (L)

(c Become insane (d)  Become drunk
ol Bolt from the Blue

(a) Son SWHTHTIING [h' C..ulﬂph:"‘lﬁ surprise

(c) Recklgss (d) Careless
o5 Be like a bear with a sore haad

ia Be in a foul moed () Have headache

[ Foweardul ‘and arrogani (d) Restlless
06-8. Choose the word which is nearly opposite in meaning to the given word:-
06 Begulle

a Deceive =), Honest (c) Charm (d) Cheat
a7 Ameliorate

(&) Deteriorate (b) Procrastinate  (c) Stagnate (d) teviale
o8 Fecklass

(&) Spotted (b)  Fatuous (c) Strong (d) Fawning
] Cacophonous

(a) Tamed (b) Harmonious (g} Silent (d) Domestic

010-14 Select the most appropriate word from the oplions against each number:-
About sixty percent of the human body is water. It you could (10] out a human being like a (11}, you

would oblain about fifty litres of water. This water which Is not like (12) water because of the substance it (13)
s necessary 1o the life of the human being. About a gallen of it is in the blood vessels and is {14) circulating

by temperalure.

Qi0. (a wiork (b) wrench (e} press (d) sgQueaze

O11 (&) mango b} lemon (c) fruit (d}) banana

a1z,  (a) usual [{#)] ardinary (c) common (d) normal

013 (a) dissolves (b} carnes (c) contains (d) includes

014 (a) continued () made () got (d) kept

Q15-18. Choose the correctly spelt word:-

Q15. (a) Ascendancy (b) Ascendncy- (c) Ascandency (d) Acsendancy
Q16. (a) Hegamony {b) Hegemony (c) Hegemoney (d) Haga.munay
Q17 (a)  Papetuate  (b)  Perpetuste  (c)  Perpetuate  (dy Perpatuate
Q18. (a) Apocaleplic {b) Apocalaptic (c) Apocalyptic (d) Apamiyptic
g;l g—zz.;‘;g:; ;E word which is nearest in meaning to the given word:- |

fa) Formal (b) Judicious (c) Hidiculous (d) Ceramonious
S e VR
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G20 Dssemble ) B Shake (c) Impeccabie (d)
gz .’—:e;j": s -_. ’ - Sarfing (c) Boisterous (d) Ewil
&) Fasvounu
= hﬁ':zq;:_,- snendto (D) Elope {c) Gatecrash (9) Send away
' ns given below it:-

Gz3-25. Read the {ollowing passage ca

Tr= greal ACharnyas have said that
and act towards i, drawing your inspiration from that goa
ot afiow this ensrgy 10 be dissipated in the futile memones

the prasenl and i Rl
by the individual who IS till

refully and answer the questio

worid outside. Therel _
2nd success. This is said very easily ina second. )
: n 1 m:e-dthemndwmmiymsumm__

hi‘;"ﬂ‘.’-: achuavemail
sidarzble training because we have alreagy lra ;
ng the an of action, wE

attihxle nascs consicsa
fhiat we have bacome pardect i impe
in doing wrong things. The lotality of activity
meeliact s very powerful and sveryona s driving but nobod
and direct & properiy, or guide it 1o tha propes destination.
Q23 Which of the Tollowing is the scurce of energy?

(&) A column that supports a building-

(b) Stimutation obtained from a set aim.
(<) Highest creative action.

(d)
G24. The authors chisl concemi s

(&) EstabEshment of socialisbc pattem.
{b) Discovery of great goal in the fife.
{c)
{d) Training of the mind.
Whst is the effect of training of the wrong mind?
f2) W= have become periect in all aspecis.
{b) Art of acfion s too much emphasized.
{c) Each of us could become & masier amst.
(d) Neons of these.

rections. Not knowi

will bring the cou
y seems 1o know

Proper training of the mind to achieve perfection.

R&;utaﬁ:&nfmgfinmmmerdirm_

mrftuawrm'rgend,

how to control the

having discovered 2 great gosl, surrender yourself to that ge

| wheraby you will get anawnu_knmd SN
ol pastregretsw”aﬂqm. naot in the ex
thus bring thal ents iocussed into activity. That is the highest creative  the
e T individual wh & unnw considered as most _im‘.lﬁciam finds his Wh : .

Q25 The book. ‘On My Terms: From the Grassroots to the Comidors of Power,' is the autobiography
(3) Lzl Thanhawia () Flam..leﬂmmhriﬁ i+ =
fc)  Sharad Pawar {d)  Okram lbobi Singh
21% Conferance of Panies (COP21) on Climate Change was haid in Nov- Dec 2015 at

New York

G27.
§8 N nanon {5}  Singapors ()  Pans @
b s, -
Potassium
(). - CopperSulpheie B St
Q29. Which of the following pans of India recaives raintall from retreating monsoon?
o e e
(8 YashwartSoha b Al o e cflan st iy Wi e
ass 9 . -hn" y {d)  SanjeevKapoor
e (6)  Lance Naik Albent Ekka
@ l.,.. MII : 3 y
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Qaz

Q33

G35,

Q38,

Qar.

Q38

39,

Q40.

Q41,

Q42.

Q45.

Q4e.

Q47.

‘8
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5 300
Which ane of the following bes! explains the occurrence of the solar echiae”
(a) Position of the Moon between Sun & Earth
(b) Pasition of the Moon between Sun & Earth on a new moon
(c) Both (a} & (b)
(d) None of these
Highest Civilian Award, Bharat Ratna was conferred In 2015 1o
fa) Al Bihari Bajpayee (b) LK Advani _
{L'} Jai Prakash Marain ld} Madan Mohar Malnyi
The indigenously developed Navigatiomal Satellite system is known as
(a) IRGPS (b) Galilea
() IRNSS (d) GLONASS
Bajirao was appointed as Peshwa at the age of 20 yrs under the reign ol ——
{a) Sﬂmbha][ (b) Chhatrapall Shiahil :
Chhatrapatl
e {in 20157

(€} Rajaram Il of Satara
Which cricketer has been conferred with Col € K Naidu life time achiavemer! AR
(a) Bishen Singh Bedi (b) Kapil Dev
(€) Mohinder Amamath (d) Syed Kirmani
Besides the Qutab Mosque and Quiab Minar, Quiab-ud-din Aibak is said to hmrepiil;l_.lgm
(a) Adhai-din-ka jhopra mosque at Ajmer  (b) Khirki masjid at Jahan- Delhi
() Mausoleum of Khan-i-Jahan Tilangani  (d) Kila--Kuhna mosque at

rulein indiawas_______———

Indian Ruler who defeated British in their early stage of as__
(b) Mahadaji Scindhia

(a) Maharaja Ranjit Singh
() Hyder Ali (d) Tipu Sultan o ——
Who among the lollowing will head the Judicial Commillee on ‘One Rank One Pension (
schemea?

{b) L Narasimha Reddy

(a) Y V Reddy
() Sanjay Mishra

The mascot of the South Asian Games conducted in February 2016 was
(b) Shera

(d) N SReddy

(a) Chikor
(c) Tikhor . (d) Appu
Who among the following shooters clinched the 50 m pistol gold at the ISSF World Cup in Bangkok
in Mar 20167 )
(a) Jitu Rai (b} Pang Wei
(d) Potent Warren

(c) Wang Zhiwei
Which country will host Commonwealth Games in 20187
Australia

(a) New Zealand (b) |
(c) Scolland {d) Malaysia
The larges! concentration of Harappan sites has been found along the
(a) Sutlej (b) Ghaggar- Hakra
(c) Indus (d) Havi
Heavy water is called heavy because
(a) It is denser than ordinary water (b) It is an oxide of deuteron
(d) It has a heavier isotope of hydrogen

(c) It has a heavy (or bad) taste

Which of the following soills is most conducive for the growth of catlon?
(@)  Alluvial (b)  Red (¢)  Laterite (d)  Black

India has inked a deal with France lo acquire fighter aircraft, Dassault Rafale. Which is the
other French fighter aircraft in the inventory of Indian Air Force?

(a) MiG 21 (b) Mirage 2000

()  AJT Hawk (d)  Su-30 Mkl

Resolution n‘.:ﬂ Purna Swaraj was passed on 26 January 1930 at

(@) Haripur (b)  Lahore (€)  Karachi (d)  Calcutta
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Q48

Q50,

Q51

Q52

Q53.

Q54

Q55.

056,

Q57.

Q58.

Q58.

800
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Deepika Padukone has received Fllimiare award 2016 for the Besl Actress in the miovie
{a) Bajirao Mastan (b) H.m ypy New Year
(e) Tamasha (d) Piku
The largest Ol Fisld ol Gujaral Is In
(a) 1ﬁ‘::h--_-r||:;r1|:| (b3} Kadi (¢} Ankloshwir (d) Kaiol
Fundamental Rights are gnshrined in the (tunslrll._ltir:n-. of india n
(a) Part | (b} Part Il (c) Parl IV (d) Part V

& for each km which he travels by taxi and S0 paise for each km he o
glling BO km, how many kms did he trave) by

A workar may claim Rs. 1.
his own car. Il in one waek he claimed Rs. 50 tor trav

laxi?
{a) 20 km (b) 14 kin
In an examination, & sludent was asked 1o find 713 of a carnai
His answer was 150 more than the correcl answer. Find the number 480
(a) 180 (b) 280 (c) 380 ()

it each of them had received Rs. 25 less,

recelved by C was
(d) Rs. 245

An amount of Rs. 735 was divided betwean A, B and C.
ol 1:3:2. The money

12 km (d) 10 km

()
A number. By mistake, he tound l.uf i

their shares would have beenin the ratio
(a) As. 195 (b) Rs. 200 (c) Rs. 225
20 litres of a mixture contains milk and water in the ratio 5 3. | 4 litres of this mixture is replaced by
4 litres of milk, the ratio of milk to water in the new mixture would be
(a) 2:1 (b) 7:8 (c) 6:3 (d) 4:3
A man rows upstream a distance of 9 km ot downstream a distance of 18 km taking 3 hours each
time. The speed of the boat in still water is
(@  7;kmh (b) 63 kmh ()  5;kmh (dd) 4+ km/h
8 finishes it in 9 days. in how

days. He works at it for 4 days and then

A can do a piece of work in 10
many days can A and B together finish the work?

(a) 6 days (b) 8 days (c)

A crate of mangoes conlains one bruised mango for every 3
4 bruised mangoes are considered unsalable, and there are 12 unsala

8 ; days (d) 7 1'5 days

0 mangoes in the crate. If 3 out of every
ble mangoées in the crate, how

~ many mangoes are there in the crate?
(a) 480 (b) 500 {c) 420 (d) 520
A man can row 30 km upstream and 44 km downstream in 10 hours. He can also row 40 km
upstream and 55 km downstream in 13 hours. Find the rate of current.
(a) 3 km/h (b) 2 km/h (c) 4 km/h (d) 5 km/h
How long will it take f i ° ' i i i
40 %g or a sum of money invested at 5 % p.a. at simple interest to increase its value
(a) 5 years (b)  6years (c) 7 years (d) 8 years
The mean of 50 observations was 36. It was found la '
23, The corrected new mean is ter that an observation 48 was wrongly taken as
36.5 (d)  39.

(a) 352 (b)  34.1 (c)
The average score of a cricketer for ten matches is 38.9 runs. If the average for the first six matches

is 42, the average for the last four matches is
(a) 3325 () 335 (€) 3425 d 35
On a certain sum, the simple interest a :
(] t th — {
Sl e end of 6 - years becomes %m of the sum. The rate
(a) 7% (b) 6
% (c) 5%
d 5
d 5;%

n. & =
horse s sold at a profit of 25 %. If both the cost price and selling price are Rs. 200 less

;?.Haiﬁ % more. The cost price is
Rs. 1100 (b)  Rs. 1200 (c) Rs. 1000 (d) Rs. 900
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Two trains travel in opposite directions at 36 Km/h and 45 Km/h respectively, A man sitting in slower

Q64
:;'ﬂ NS;GH the faster train in B seconds. The length of the (aster train is
Bhdlic (b) 120 m (c) 160 m (¢} 180'm
oes. By SH""E‘ a chair for Bs. 368, a man lost B %. For how much shotld he have sold it 10 gain 15 %7
(@) 5. 450 (b)  Rs 475 () Rs. 460 (d)  Rs.500
: g with a speed of 60 km/h. In what time will it pass a man
running at 6 km/h in the direction opposite to that of train?
(@) Ssec (b)  6sec (€)  Tsec (d) 10 sec
Q67.  If 3 men or 4 women can plough any days 7 men and 5 women can
plough the same field? Plough a held in 43 days, in how many days
(@) 18days (b  10days (c)  12days (d)  15days
Q68. A man sold two watches for Rs. 3750 each: on one he gained 5 % and on the other he lost 5 %.
What was his total gain or loss as a perceniage? =
(@) 0.25 % loss (b) 2.5 % loss (c) 25 % gain (d) 12.5 % gan ®
069-73 In each of ve figures (8),
e following questions, figure (X) is given followed by four alternatibe CREC Ly,

(b). () and (d). Figure (X)

is embedded in one of the alternative figures.

which contains figure (X) as its part.

Q864.

Q70.

Q72

Q73.
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(X) (a) {b) « (c) (d)
| B lk=EHE
(X) (a) (b) (c) (ch)
- | | EIED
(X) (a) {b) (c) (d)
[ |4 e
(X) (a) (b) (c) (d)
i I

(X)
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! - . : tween Sun, Plansts and Earth7
a75.  Which of the foliowing diagrams indicates th:{gbsaﬂ!"‘_'___iﬁl__m?_m—

{a)
&

&

° “ @
. cher and Player?
Q7é.  Which of the following diagrams indicates the Lgﬁ@@jwﬂﬁ‘——“]
' SO0

(al
|
! | @ ’|_/_’CLI/
[ {c) @ O {d) @
=1 retation bal

nd Root?
Q77. Which of the following diagrams indicates the bes ween Leaf, Seed 8

0o T
io

Q78-80. In each pru-biﬂm_t_mt of the four figures marked (a) (b) (c) and (d), three are similar in a
certain manner. However, one figure is not like the other \hree. Choose the figure which is different

from the rest:-

Q78
<[ 1= L
{a) {b) (c) {d)
Q78.
A = alx 9+ A
o +ix _+|B24alc =
s o = >
- (a) (b) () (d)
Q80. |
1- ‘ -:*I 3! .._..‘
________-I—-—ﬂil—ﬂ
(a) (b) ey (4

Q81-85. In each of the following questions, four words have been given out of which three are alike if
Sl Oatn (d)  Brussels

D % "

(d) :
(b)
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0es-90, In each of the '““"""‘hs ;
aatisfies the same conditions of m“‘-m a figure from amongst the four alternatives, which
Placement dots as in figure (X} -

QBs

(BE (&) Sahoro Kn
e iy

X
Q87 i @) ) (© ()
D Ao &
088 09 (@) tb) © @
Y
B D B & o
Q89. Ve () fb) () (d)
Gl O G P W
X c
i (X) (&) (b) (¢) (cf)
g 6 829 &
(d)

(X) (2)
Q91-95. Each of the following guestions consists of five figures marked 1,234 and 5 called the
Problem Figures followed by four other figures marked (a), (b), (¢) and (d) called the Answer Figures.
Select a figure from amongst the Answer Figures which will continue the same series as established

by the five Problem Figures:-
Qa1. Problem Figures: Answer Figum‘s;_
rer LT A . N I
A Y '
(1) (2) @ (4 (8
292. Problem Figures:
D=
o~ f6
(1 (2
293, Problem Figures: }
? £_" . = e ’ i %‘.
(1 (@
| |
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8
094, Problem Figures.
& -\D "R '\D "\
| =
D ; /’ :I “f ') " '\
(1) 2 (3 (4) (5)
Q95. Problem Figures:
o|P A TP TE
X ¢clo 2R G5B cla I
o Et S PIT als X| O E
s T =] §= Xlo ols
(1) (2) (3) (4) (5)

Q96-100 In each of the following questions, find out

mark:-

Q96. Anatomy : Zoology :: Paediatrics : 7
(a) Chemistry
(c) Palaeontology

Q97. Eccrinology : Secretions :: Selenography - 7

(a) Sun
(c) Crust
@98, Virology : Virus :: Semantics : 7
(a) Amoeba
(c) Nature

Q99. Tectonics : Building :: Taxidermy : ?
(a) Classification
(c) Stuffing

Q100. Annihilation : Fire :: Cataclysm : 7
(a) Emergency
(c) Anxiety

www.studycampus.in

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

BUURLE] SETIED &3

answer Figures

(a) (b)

Medicine
Mechanics

Mantle
Moon

Language
Society

Conserving
Collecting

Tribulation
Flood

the alternative which will replace the question
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